TPS54560 Vin=24V Vout=5V lout=1A fsw setting=720kHz(RT=140k%2)
Chl: Sw node Voltage(Yellow) Ch2 : Inductor current(Green)
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Switching frequency was about 360KHz even though the setting frequency was 720kHz(RT=140k Q).
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Switching frequency was still 360KHz, and peak inductor current was limited at 3A.

If we tried to have more load current , the fsw was folded back as see in next page.
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Switching frequency decreased to 90KHz due to the frequency fold back (360/4=90kHz) ,

and peak inductor current was still limited at 3A.



TPS54560 Vin=24V Vout=5V lout<<2A fsw setting=720kHz(RT=140k )
Chl: Sw node Voltage(Yellow) Ch2 : Inductor current(Green)

O50-% 30244, MYST360667: Wed Sep 16 16:4202 2013

T 100y 20 1.0048¢ 200 5.000%/ ] Z 1.994

Agilent

g
.-"'r — JIL"

2. 00GSals

[ LN P e

'?#’$Jb

OC 10.0:1
OC 10.0:7

HIEE
A o R[]
251mY
DC RMS - Cycl1):
a4.11v

Rl
| 45 . 183kHz ’
=517,
J 3.144

FUH-A=a2—

A

T >

Switching frequency decreased to 90KHz due to the frequency fold back (360/8=45kHz) ,

and peak inductor current was still limited at 3A.



